71 nNx20

vorkville] nx Series rev A

applicable to units with serial numbers prior to 107xxxx

# Part# | Description
Labeled Components

1 8988 HF DRIVER BOLT M5 X 30 PAN SLOT MS JS500 BLACK

2 HD120  |8R 40W 1 INCH DRIVER HD1208R

3 12HLP64-8 |12 INCH 8R 350W PROG NEO SPEAKER

4 Z268* |NX20 GRILLE

5 8240D "Y" LOGO SML. DOMED YORKVILLE BLUE

6 8989 PANEL FASTENER, PLASTIC, BLACK

7 8990 #8 X2 1/2 SCKT DECK SCRW FLT JS500

8 8540 CAST BAR HANDLE "YORKVILLE" YS BLUE

9 8906 #14X2 ALLEN FLAT HD WOOD SCREW

10 8547 PLASTIC FOOT BLACK

1 8487 ADAPTER, SPEAKER STAND, PLASTIC, LARGE

12 3641 S.C. BAYONET WIRE SOCKET TINNED

13 3647 12V 18W SC BAYONET #1141 BULB

14 3924 1/4 INCH JACK PCB MT VERT 2XTIP HICURRENT
nx20 rev A front with grille removed 15 3628  |SPKON 4C PCB MT VERT 250TAB GRY #4

16 8786 BOLT 10-32 X 1 1/4 PAN QD MS JS500 BLACK

17 8722 SCREW #8 X 1 INCH PAN QUAD TYPE AB B/O

18 8815 INTERNAL XO MOUNTING SCREW

Side view if nx20 rev A w/ bottom view shown (inset) nx20 rev A Crossover removed

note: to remove crossover, remove bolts (17) as highlighted above

*NOTE: Replacement grilles are 'Special-Order' and are only available while the model is in production.

Real Gear.
Real People.

Parts-Serv-nx20-revA-1v0.xls ftp.yorkville.com Speaker Enclosure



> nNx20

Yorkville| NX Series rev B

applicable to units from serial numbers 107xxxx

Description

HF DRIVER MT BOLT M5 X 25 PAN PHIL MS ZINC

8R 40W 1 INCH DRIVER HD1208R

12 INCH 8R 350W PROG NEO SPEAKER

NX20 GRILLE

"Y" LOGO SML. DOMED YORKVILLE BLUE

FLYWARE BOLT 3/8-16X11/2 GRD5 FLAT SCKT HD PLAIN

#8 X2 1/2 SCKT DECK SCRW FLT JS500

CAST BAR HANDLE "YORKVILLE" YS BLUE

#14X2 ALLEN FLAT HD WOOD SCREW

RECESSED RUBBER BUMPER WITH WASHER

ADAPTER, SPEAKER STAND, PLASTIC, LARGE

S.C. BAYONET WIRE SOCKET TINNED

12V 18W SC BAYONET #1141 BULB

1/4 INCH JACK PCB MT VERT 2XTIP HICURRENT

# Part#
Labeled Components

1 8987

2 HD120

3 12HLP64-8
4 7268*

5 8240D

6 8726

7 8990

8 8540

9 8906

10 8545

11 8487

12 3641

13 3647
14 3924
15 3628

SPKON 4C PCB MT VERT 250TAB GRY #4

nx20 rev B front with grille removed

Side view if nx20 rev B w/ bottom view shown (inset) nx20 rev B Crossover removed

*NOTE: Replacement grilles are 'Special-Order' and are only available while the model is in production.

Real Gear.

Parts-Serv-nx20-revB-1v0.xls ftp.yorkville.com

Real People.

Speaker Enclosure



	Rev A
	Rev B

